e 20201390101
ksl APEX DYNAMICS, INC.

R 2 &K R B EMFKRI)

T 58 75 5 SRR R AS - A% B IERBIRE < LK BE)FERRR - BRRRRIRMBESLSZL -
BRRES -

a. BT EErEEoR - & T s B N RSN R
b. WENE » BRETER - s 000 TBEE (BRLE - RLWHE )

A

ARE - MURMINR (R—) 23 . S y—
NEZ 5% & 1~4 QB » FIRT 8 28 s e
FBIagH -

ﬂ%%ééﬁ/m;i%@ﬁ%aﬁ AR OR (R—)
BECHNE  K1~40IBEF » BRDRFH R




ERlzuzgsmrzns |

R ANAERSY | BESSBEAZEHER N | BE10.9FAZEHER D | BE12.9B#A ZHERD
[mm] [Nm] [In-lbs] [Nm] [In-lbs] [Nm] [In-lbs]
M3 x 0.5P 25 1.3 12 1.8 16 2.1 19
M4 x 0.7P 3 3 27 4.1 37 49 44
M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038

E=-zussuunr2az]

= @ (C3) 8 11 | 14 | 19 | 24 | 28 | 32 | 35 | 38 | 42 | 48 | 55| 60
MFK 060 M5 | M5 | M5 | - - - - - - - - - -
MFK 075 - M5 | M6 | M6 | - - - - - - - - -
MFK 100 - - M6 | M8 | M10| - - - - - - - -
MFK 140 £ - - - M8 | M10 | M10 | M10 | M12 | M12| - - - -
MFK 180 - - - - | M10| M10 | M10 | M12 | M12 | M12 | M16 | - -
MFK 210 - - - - - - | M10| M12 | M12 | M12 | M16 | - -
MFK 240 - - - - - - - | M12| M12 | M12 | M16 | M16 | -
MFKA 240 =Ef - - - - - - | M10| M12 | M12 | M12 | M16 | - -
MFKB 075 M5 | M5 | M5 | - - - - - - - - - -
MFKB 100 - M6 | M6 | M6 | - - - - - - - - -
MFKB 140 . - - M8 | M8 | M10| - - - - - - - -
MFKB 180 =5 - - - | M10| M10| M10 | M10 | M12 | M12| - - - -
MFKB 210 - - - - | M10| M10 | M10 | M12 | M12 | M12 | M16 | - -
MFKB 240 - - - - - - | M10| M12 | M12 | M12 | M16 | - -
MFK 240 I &fi - - - - | M10| M10 | M10 | M12 | M12 | - - - -
MFKC 060 M5 | M5 | M5 | M6 | - - - - - - - - -
MFKC 075 - M6 | M6 | M8 | M10| - - - - - - - -
MFKC 100 - - - M8 | M10 | M10 | M10 | M12 | M12| - - - -
MFKC 140 SEED - - - - | M10 | M10 | M10 | M12 | M12 | M12 | M16 | - -
MFKC 180 - - - - - - | M10| M12 | M12 | M12 | M16 | - -
MFKC 210 - - - - - - - | M12| M12 | M12 | M16 | M16 | -
MFKC 240 - - - - - - - | M12| M12 | M12 | M16 | M16 | M16
BEHRS [mm] M5 x 0.8P M6 x 1P M8 x1.25P | M10x1.5P | M12x1.75P| M16 x 2P
~RBRY [:lqrr:]] 948 157 f1 zfo 11399 31:3
HEHD [I[n-lbs] 87 151 364 709 1232 3038

B BERER , THHEEN S8 EREREZ20% , SRRITE.

r .
*

x4 APEX DYNAMICS, INC.
40763 AR TAEERE=K105E E e

Tel:886-4-24650219 | Fax:886-4-24650118

sales@apexdyna.com | http://www.apexdyna.com APEX-2024-02-01



	頁面 1
	頁面 2

